\ 7 Shri Shankaracharya Institute of Professional Management & Technology
| A Department of Computer Science & Engineering
| ' Class Test —1 Session- Jan-Jun, 2020, Month- February
Sem- ET&T 6™ Subject- Operating System Code- 328672(28)
Time Allowed: 2 hrs Max Marks: 40

Note: - Attempt any 5 question. All questions carry equal marks.

| Levels of
Q.N. | Questions Marks Bloom’s COs
— . . taxonomy _
1. | Discuss different functions of OS? (8] Understanding = CO1
2. Explain Real time, Time Sharing & Multiprograming OS? [8] Understanding CO1
3. What is CPU Scheduling? Discum any three. - [8] Understanding CO1
For the following Calculate average TAT. Average WT & Average )
RT using SRTF Algorithm
Process Arrival Time Burst Time : :
4. P, 0 5 - [8] Apply CcO2
| P, 1 3 : »
Py 2 4
. Pa 4 !
' Find Avg TAT, Avg WT for FCFS & SJF algorithm.
: Process Burst Time
“ ' : P 5
P; 16
P4 10
Ps 3

Shri Shankaracharya Institute of Professional Management & Technology
S Department of Computer Science & Engineering
A Class Test —1 Session- Jan-Jun, 2020, Month- February
Sem- ET&T 6™ Subject- Operating System Code- 328672(28)
Time Allowed: 2 hrs  Max Marks: 40

Note: - Attempt any 5 question. All questions carry equal marks.

; Levels of
Q.N. ¢ Questions Marks Bloom’s COs
L : . . . taxonomy
“ 1. . Discuss different functions of OS? (8] Understanding CO1
2. Explain Real time, Time Sharing & Multiprograming OS? - [8] Understanding Cco1
3. | Whatis CPU Scheduling? Discum any three. [8] Understanding Ccol1
. For the following Calculate average TAT. Average WT & Average
¢ RT using SRTF Algorithm
| Process Arrival Time Burst Time .
4. P, 0 5 - [8] Apply CcO2
‘ P2 1 3 ;
| Ps 2 4
. 4 1
. Find Avg TAT, Avg WT for FCFS & SJF algorithm.
Process Burst Time
Py 5
5. P, 2 (8] Apply CO2
' P; 16
Py 10
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Oa Ocswaoa a »o_om_.wuw source E—S:m two m%Bdo_m dot (.) and ammw ().

" The dot aE.»:o: is 0.2 883 and dash duration is 9_.8 times o». dot

duration. The Eogg_:% of occurrence of dots is twice that of dash BE the

- time between symbols is 0.2 mooona Om_oEmﬁ Ea E».onﬁuaou 38 of

na_oﬁ%r source. -
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.Ou mbooao the mﬁam E_:m hwavn_ —Ziv. m_mo:n:: Ea write the mﬁvm H.oq :

coding
R B | o.,._,o 11011 om opxo 1-Q.3:1

- Q6. . Oonwaon a 8_0%%: source rmS:m two. symbols dot (.) and dash (-).
- The dot ‘duration is 0. 2 second and dash duration is three times of dot .

duration. The probability of occurrence of dots is twice that of dash and the
time between &S._co_m is 0.2 second. Om_oc_ﬂo ‘the information rate of
85@3@: source. . :




Slm Sh;nkéi'achél;ya Institute of Professional Managément & Technology
Department of Electronics and Telecommunication Engineering

asgﬁ'ﬁ’;r*; Class Test —1 Session- Jan. — June, 2020 Month- February
AN Sem- ET&T 6" Subject- Digital Signal Processing - 328651(28)

Time Allowed: 2 hrs Max Marks: 40

i Note: - Attempt any 5 question. All questions carry equal marks.

o . o TR
o | Questions Marks Bloom’s
NO. ,
; e taxonomy
- For the given sequence x(n) = 2" and N = 8, find X(K) using DIT FFT
1. o pven e ® (K) using [8]  Apply
algorithm
: Compute linear and circular convolution of the two sequences x;(n) =
{1,122} and () = {1,2,3.4) il
3. Explain DFT and calculate DFT for the input signal x(n) = {0,1,2,3}. [8] : Apply
4 | Find the responsé of FIR filter with impulse response h(n) = {1,2,4} to 8] Aopl
" the input sequence x(n) = {1,2} using periodic convolution. PPy
5. Determine IDFT of X(K) = {3, (2+]), 1, 2-j)} | (8] Apply
U ~ Determine the direct form I realization for the third order transfer 3 N »
6. function [81  Apply
'  H(Z)=(0.287" +0.319Z + 0.04)/(0.52° + 0.3Z% + 0.17Z - 0.2)
7 Draw cascade caconical IIR filter for the transfer functioncshown below ; 8]  Appl
C H@=(+ZY/(A-Z"+052%(1 -2 +2? | PP
g Obtain the direct form II realization of a transfer function described by: (8] Aopl
" ym) -Gy - 1)+ (1/8) y(n — 2) = x(n) + (1/2) x(n - 1) | PPy

COs
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